MOUNTING INSTRUCTIONS

Oy

sty 10kg(22Ibs) max.
13" - 27"(33-69cm)

P WARNING STATEMENTS P PARTS INCLUDED

Warning

Prior to the installation of this product, the
installation instruction must be read and
A completely understood. Failure to do so
may result in personal injury, property
damage or voiding of factory warranty.

Do not install on a structure that is prone to

A vibration, movement or chance of impact.
Reinforce the structure as required before
installation.

The desk clamp can support a maximum
A thickness of 6 cm. Confirm the desk edge
before installation.

Pay attention to the weight capacity of the
A mount. Exceeding the limitation can result

in function unworkable or even serious

personal injury and property damage.

Never operate the mount if parts are
A missing or damaged. Contact your local
service center for warranty service.

D TOOLS REQUIRED NOT INCLUDED
/ @ 2
S \

A B C
gy Ty i
M4x12 (x4) M5x12 (x4) 13X5.5X16.5 (x4)
M4x30 (x4) M5x30 (x4) S=4mm (x1)

—

(x1)




P INSTALLATION

@ — —

Loosen clamp screw until enough space is left for the edge of the desk.

® _

Tighten clamp using clamp screw until
mount is securely fastened to desk.

@

@ E
- iy

Adjust locating ring at proper height
and screw up tight to hold the mount.

° (o))l

] v

. 360°
-—

360°




